(ED CONSEJO PARA UN CORRECTO MONTAJE DEL KIT: No apretar los tornillos del todo hasta asegurarse que el KIT esté correctamente colocado y alineado.
PROPER KIT ASSEMBLY: Do not fully tighten the screws until it is ensured that the KIT is correctly attached and aligned.
(P> CONSEIL POUR UN MONTAGE CORRECT DU KIT: Ne pas serrer les vis complétement jusqu'a s'étre assuré que le KIT est correctement placé et aligné.

(@ RATGEBER FUR EINE KORREKTE MONTAGE DES KIT: Ziehen Sie die Schrauben nicht ganz fest, bevor Sie sich nicht vergewissert haben, daB der
Bausatz korrekt eingestellt und ausgerichtet ist.

(1 CONSIGLI PER UN CORRETTO MONTAGGIO DEL KIT: Non stringere del tutto le viti finché non si & controllato che il Kit & situato e allineato correttamente.

(B> Montar los tacos rojos (1) segtn nos muestra el dibujo, en la parrilla espe-
cifica de la maleta (B), no incluida en este Kit.

Assemble the red rawplugs (1) as shown in the drawing, in the case’s speci-
fic rack (B), not included in this Kit.

(P Monter les taquets rouges (1) selon montre le design, dans la grille spécifi-
que de la valise (B), laquelle n’est pas comprise dans ce Kit.

(@ Bauen Sie die roten Diibel (1) auf, wie im Bild, im Gitter des Koffers (B),
der in diesem Kit nicht enthalten ist.

(1 Montare il tassello rosso (1) seguendo il disegno, nella rastrelliera specifica
della valigia (B), non inclusa in questo Kit.

(B> Montar la chapa base (2), mediante los tornillos (3) y las arandelas (4).

(P Monter la plaque base (2), au moyen des vis (3) et les rondelles (4).

(@ Befestigen Sie die Grundplatte (2) mit Hilfe der Schrauben (3) und den
Unterlegscheiben (4).

(D Montare la placca base (2) mediante le viti (3) e le rondelle (4).

(B A continuacion montar la parrilla especifica de la maleta (B) sobre el trans-
portin original de la moto; en zona delantera mediante los tornillos (5), las
arandelas (4), las tuercas (6) y las arandelas bridas (7) y en zona trasera
mediante el tornillo (5), la chapa base (2), las arandelas (3) y las tuercas (6).

Next, assemble the specific case rack (B) over the motorcycle’s original
luggage carrier; in the front zone by means of the screws (5), the was-
hers (4), the nuts (6) and the bridle washers (7); and in the back zone
by means of the screw (5) the base plate (2) the washers (3) and the
nuts (6).

(P Ensuite, monter la grille spécifique de la balise (B) au-dessus du bac bana-
ne original de la moto; dans la zone avant au moyen des vis (5), des ronde-
lles (4), des écrous (6) et des rondelles brides (7), et dans la zone arriére au
moyen des vis (5), la plaque base (2), les rondelles (3) et les écrous (6).

(@ Bringen Sie als néchstes den Gepécktréager (B) an dem vorhandenen
Gepécktrager des Motorrollers an. Im vorderen Bereich mit Hilfe der
Schrauben (5), der Unterlegscheiben (4), den Befestigungsmuttern(6)
und den Abschlussscheiben (7). Im hinteren Bereich mit Hilfe der
Schraube (5), der Grundplatte (2), den Unterlegscheiben (3) und den
Befestigungsmuttern (6).

(D A continuazione, montare la rastrelliera specifica della valigia (B) sopra il
portabagagli originale della moto; nella zona anteriore mediante le viti (5),
le rondelle (4), i dadi (6) e le rondelle briglie (7); e nella zona posteriore
mediante le viti (5), la placca base (2), le rondelle (3) ed i dadi (6).

COMPONENTES / PARTS / COMPOSANTES / EINZELBAUTEILE / COMPONENTI:

Pos. Ref. Cant.
1 20071372 4 Tacos rojos - Red rawplugs - Taquets rouges - Rote Diibel - Tassello rosso
2 261256 1 Chapa base - Base plate - Plague base - Grundplatte - Placca base
3 304012 @ 2 Tornillo M6 x 16 DIN 912 - Screw - Viis - Schraube - Vite
4303000 S 5 Arandela @6 - Washer - Rondelle - Scheibe - Rondella
5 304061 § 3 Tornillo M6 x 60 DIN 7991 - Screw - Vis - Schraube - Vite
6 302021 4 Tuerca M6 autoblocante - Self-blocking Nut M6 - Ecrou M6 autobloquant - Selbstanziehende Mutter M6 - Bullone M6 autobloccante
7 303049 @ 2 Arandelas brida - Bridle washer - Rondelle brides - Abschlussscheiben - Rondelle briglie

Assemble the base plate (2) by means of the screws (3) and the washers (4).

KOLK19ST

KYMCO LIKE 125 ‘09

KIT TOPMASTER

SHAD

REF. 500479
Edicion 1




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 72
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 72
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 72
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ESP <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.276 841.890]
>> setpagedevice


